Spool Holder Inner
No warping
M5 bolt needs to fit the bottom two holes and inner two holes
M5 washer needs to fit in inner two holes
Drill vertical carrier bolt hole to 8mm
M8 nut needs to fit the bottom hex hole
Extrusion needs to fit cleanly through square hole
Visual check

M5 bolt



